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This process leads to a very useful formula...

Have you ever thought...
"b raised to what power will give me some number N?"

ie. log, N=x or h* =N

Solve the equation: H* = N

Xlopk= IoavN
K= oy
[o }.L

Could we have taken the logarithm of each side to any base we had chosen?

This leads to the change of ula:
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X X 1
Solve the followmé"}( ¢ 2 ' zx) 0-1-4
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Solve the following...



HOMEWORK...

EXTRA! EXTRA!
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2. Which is equivalent to 3[2 log, A+log, B-log, C-| ?
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3. Algebraically solve: log, (x +2)+ lg(S}

AP
3 O; 3

/oy (0 x)\"

/o() (i) + k) (lg“ I‘,‘
oy s+ fogn (1) = ¢
/071 (‘2;2#- ‘/,S)‘-’ s

D = ory

g

Y 2k 8= 0O

Cey ;éx-l) 0
4
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4. A truck is purchased for $51 000 and depreciates by 23% annually. At the same
time a minivan is purchased for $38 000 and depreciates by 17% annually. Write
an equation to model this situation and use it to determine when the two vehicles
will be of equal value.

T 0w Van

€10 t]o ||
S1 000 / /39909

- . 0.83
V = 5/000(0-77> \/= 38000 (.93 ¢

123 Sts00(0m Y} Bom (o g3

Ioa,svwo + ¢ /?9 07 =/°333 0001 '6/0

% 093
t(/"d 0-7‘7-/{9 0-33> = /00 36000—/? 5/000

€= 393 Speacs
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If the intensity of earthquake A is 5 and the intensity of earthquake B is 650,
what is the difference in their magnitudes as measured by the Richter Scale?

A/f\)-/oaé_%) B/ R e (55 )
K- /8(/? R=6.813

7‘67 H:: .11+

The 1985 Mexico City earthquake had a magnitude of 8.1 on the Richter scale
and the 1976 Tangshan earthquake was 1.26 as intense. What was the magnitude

of the Tangshan earthquake on the Richter Scale? 8.

18
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